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=4x5x4x3x2x1=480

93 3
.- a, =
r=0 ncr
i r :i n—(n—r):nz”: 1 _z”: n-r
r=0 ncr r=0 nCn—r r=0 nCr r=0 ncn—r
n
;
=na, -y
r=0 ncr
n
p
= 2y " =na,
r=9 r
an

2
2% 3 48 ond _anxn® _&n?-1+1
4o 1+ + S+ = = =
’ +2! 3!+4!+ z ! 2/’7 z

e (=n=21 —=n-1l

< (n+1)-2+2

=y +e

= n-=2!

z (n-2) Z 3 ‘e
is(n=2)n-3! = n-21
=y ! +3Y LIS
isn=31 =n-2!

12 4
1 Sind 1
98. A=|-sin®@ 1 sind
-1 —sin®6 1
2 sind 1
= A=/0 1 sind [-.C; = Cy+C4l
0 -sin6 1
= A =2(1+5sin?0)

3d: 0<sin?H< 1
2<2(1+sin0)< 4
= Ael2 4]
101. (b+c)cosA+ (¢ + a)cosB+ (a+ b)cosc
=bcosA+ccosA+ccosB+acosB+ acosC + bcosC
= (bcosC +ccosB)+ (ccos A+ acosC) + (acosB+ bcos A)
=a+b+c

102. u =Iogtan(g+ g) o v = 1+1806/2

" 1—tan@/2



16

103.

104.
105.

109.

110.

1.

112.

1M4. z=

116.

e +e* A+tan’x/2 _ 1 _
COSU = = =secH
2e 1—tan®x/2  COSX
sinh™(3)
= sinh™'x =log, (x+Vx® + 1)
sinh™'3=log, (3++/9+1)
=log, (3+/10)
(Ll)
V66 =(-6)\? 2 =(—6)' = —6
4@ Bl =
C|B-of_| oo | _|poa | 1[p-af_ 1 _,
1-oB| |BB-oB| BB-| [BI[E-)| [B]
SPHIE &b rd ol OIS A7 H BRI TR
r:e/'Zn/n—&.\I—,-l-”
Bqst & il 2 z+ iz Fon iz | PR By @1 dama
_1 0
—2\21
142
EM =50
|4%=100
|4=10
X2 —y? =922 + 6yz = x> = (y? + 92° — 6y2)

—(y-32¢
AB=7:97a1B:C=5:4

=(x—-y+32)(x+y-32

LAB:C=7%x5:9%x5:4%x9 =35:45:36

542 3-4i 1 _(5+2)2+5)_ (3-4)(4-3)_i
2-5 4+3 | (@-5)@+5) (4+3)(4-3i) i2
_10+29 =10 (12-251-12) .
29 25

=i+i+/ =0+3
I IS AT = 0

1+ sinxsin? X = 0
2

0< x< nt & forg
sinxsin? X >0
2
= 1+ sinxsin? X > 1
2
= 1+sinxsin2§X #0
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H1 [0, n]F 99 PIS & TE B

L ax
= 1+sinxsin®Z =

g —nSX<O%ﬁ%N

o ax
—1< smxsng <0

o ox
= O<1+sinxsin? 2 <1
2
o ox
= 1+sinxsin®Z £ 0
2
L ox
= 1+smxsm2§ =0

Bl [, 0] & 49 BIg & T8I &

- T TS FHIBROT B RN [ 7, ] B AT BIS Bl gl

2l

17. cos™ (cosf)+sm 1(sm7)
oS3
o)

b T T
=cos~ (cos ) sin” (sm ) —-==0
3 3 3
a

2cosA cosB 2cosC b
118. =4 .0
a b c bc ca
= 2bccos A+ accosB+ 2abcosC = a® + b?
2 2 2 2 2 2
= 2bc><b tC 78 L aoxt té —b +2ab
2bc 2ac
2 2 2
K& HD°ZCT _ g2 p2
2ab
2 2 2
o pPctog?+ O A O e p2 o2 g2 2
2 2 2
- c +a“-b g2 _p?
2
= c?+a®-b%=2a%-2p?
= a®=b°+c?
3d: Y ABC wa |qHSIUT Y B
B A=
2
120, s @-b_°_
3 4 7

na=3kb=4kVd C=T7k
at+b+c _ 3k+4k+7k _ 14k _
c 7k 7k




